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1. All questions are compulsory -

2. Use of a Calculator is permitted. 4% N

3. Cellular phones are not allgw'cd A 2 o7
2 e o D)

Q1) CASE STUDY: - . 5 &

-

(15)

Create a Media Plan for Tata Altroz Racér Cars in:the price range of Rs:10.00 - 16:99 Lakhs,
The schcdulF will last for two months: The advertiscments.afe in colour. The budget for the *
print campaign is Rs 3 crores (3,00,00,000). R A

2

Size: Magazine: - Single and/or double sprégd Ncw;pﬁ-[;er. - Half page

Use the rate card given below: e ) =
& el 7 o\ Rate (Full
_ Readership Ra.t_c"(in — .['Readership | Page

Dailies . (000's) sq'cm) Magazine - " (000's) Colour)

The Times of India 8221 |\ 4640 | India Today(W) 6290 6,80,000

Indian Express - L1 | 1659 | Business World(W) |-~ 7s0| 375,000
| The Economic Times” 1290|2850 |oulook W) T 2281|  3.90.000
. it Dalal Street Investment

Dainik Bhaskar - 16239 2669 Tournal (F) F 500 3,50,000

The Hindu 3670 | 1840 | Express Hospitality (F) 105 1,50,000
{"Eenadu (Telugu) 1790 | -'351 | Moriey Today (F) .| 2202 2,22,000
»-| Dainik Jagran - 22345 | . 2050 |- ) O

(Hindi) . B |'Reader's Digest M) 505 2,40,000

Punjab Kesari 4427 330 SportBtar (W) 1125 | 1,20,000

--Malhrubhumi 6440 855 i~ ~
-] (Malayalam) The Week (W) 1219 2,75,000

Rajasthan Patrika 1770 972 |

(H".‘di) _ _ ; chini,(W) 1041 2,60,000

Quarter Page size equals 400 sq.cm [25 cm(h) X 16 cm(w)]

Q.2 Attempt any one between 2A.1 a[id 2A.2, along with 2.B [i.e. (Attempt either 2A. 1
OR 2A. 2 for 8 marks) and 2.B. for 7 marks

Q2)A)1)..
_ - Media 1 Media 2
Reach 40 30
Frequency 12 10
Averape Kxposure cost 35000 55000
Budget 5,50,000 6,00,000
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- Q2) C) Write a detalled note on medm plannmg process

\_;Q3) C) Explam the dltTerent Mcdla Schedtﬂmg Stmiegu:s
' Q3) D) What are thc factors aﬁ'ecung the choice of a Mcdm Mix.

Paper / Subject Code: 55334 / Advertising: 3)_'§Iedin Pl;l‘r;ning & Bl;ying

Find the % TA, GRP and CPRP for Media 1 and Media 2+
OR =

‘\.’

Q2) A) 2) Answer the following: - - .

®)

30,000 people see an advertisement 5 times, 50,000 pcople see an advertisement 3. tuncs and

20,000 people see an advertisement 5'times. Total cost of advemsmgls 90 ,000. Umvcrse is-1,

50,000. Find the reach %, GVT & CPT. ;}“

™
)

)

Q2) B) Find the average frequcncy of thc advcmScmem in thcmagamneusmg thedata gwem

below:

Readership of Magazch— 35,000, Magazmc B= 20, 000 Magazme C=55, 000

Duplication of Magazine A with Magazine C= 3000
Duplication of Magazine B with-Magazine'A = 2000
Duplication of Magazine C with Magazine B = 4000 R
No of insertion of Magazmc A=3, Magamne B—G‘\Magazme C=s.

.-\

OR™

Q3) Ay Explain thc following conccptS‘ CPRP Rcach, Spht Tun, TRP
Q3) B) What are the challenges in MedJa plannmg o =
= \OR K:: b

,

Q4)‘A) Explain DlgllaLSales Fu[mc] in brief.:" e

7\@4) B) E‘.xp'lﬁm Programmat:c Buymg and [DSP (Demand side platform) -

g™ \ oo \—' OR -:‘ -
Q 4) C) Explain six succcssful ncgonatlon Strateglcs in bnef
Q 4) ‘D) Write a short note on McdlaBncf . B ‘

QS) Write Short Notxs (Attempt any 3) L ~
-8)NCCS Grid + 7 ey ag N

.°b) AudltrBureau of Circulation® < N

¢) Transit Advertising | _

d) Media Audit ‘ _ S

¢) Affiliate network '
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